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SOCIAL STUDIES
(ENGLISH MEDIUM)
Time: 3hours Marks: 80

PART -A
Time: 2:30 Hrs. Marks: 60
SECTION -1
6 x 2 =12 Marks
1. What 1is the difference
between weather and climate?
2. Write about Long March in
China?
3. Write any two slogans to
reduce discrimination against

girls?

4. Write your views on
considering water resources
as common  property?

5. Draw the line map of India?
6. Observe given table below
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and answer the A, B
questions?
Reglon g5 Tae T 200607 | Growth
Andhra 4.2 5.3 20
4.8 5 5
A) Which region has more
growth?

B) What are the reasons for low
growth in Telangana Area?
SECTION - 11

6 x 4 =24 Marks

7. Read the paragraph and
interpret for development

8. What are the causes for
United States of America
involvement in the war
against Vietnam.

9. Write a letter to the returning
officer on effective
implementation of code
of conduct in elections.

10. Write about the problems of
Urbanization?

11. Observe the given table and
analyse?

Daily wages for different farm
activities in  combined
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SECTION - 111
4 x 6 =24 Marks
13. Explain the effects of Global
Warming or human life?

14. Discuss the Unitary and
Federal Principles of Indian
Government?

Andhra Pradesh in  15.Read the given paragraph and
December 2011 (in Rupees) write your interpretation?
Plough- | Sow- | Weed- | Trans- | Harvest- | Winnow- | Thresh- | Picking
Workers : : < " " s s
ing ing ing | planting ing ing ing cotton
Male 214 197 | 215 164 168 152 -
Female - 152 | 130 126 124 118 136

12. Observe the United
Hyderabad State below and
answer A, B questions?

A) Identify the places which are
not a part of present
Telangana State.

B) Who ruled Hyderabad State
before merging in India.

It was the strength of the
constitutional framework and
the democratic foundations
laid by the freedom move
ment which enabled Indian
politics to develop a multi
party democracy. Ruling par
ties have often acted in a
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partisan manner to silence the
opposition and prevent multi
party democracy from striking
roots. India's experience, was
therefore, very different from
that of other colonial countries
which got freedom aro
und the same time like
Indonesia, Pakistan, China,
Nigeria and so on.

16. Observe the given graph and

Al India (wheat) sme— 28
Al India (rice) nuc—G——— 9

ice
mbined A.P. (ri 84
Assom (rice) m—(
West Bengal (rice) s 6
Bihar (wheat) s 13
Gujarat (wheat) ns—— 35
Maharashira (rice) mum— 47
Rajasthan (wheat) mm—c6:18
Punjab (wheat) IS——4
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analyse?

17. Suggest the measures to
create environmental aware
ness among the people?

18. Locate the following places in
the given word map?

1) England  2) Hiroshima
3) Italy 4) UNO HQ
5) Russia

6) Meditarranean sea

PART - B
Answer all questions
Time: 30 Mints.
20x1=20Marks

1) Identify the words in which
are not included in the prea
mble of the constitution?

©
A) Secular
B) Socialist
C) Untouchability
D) Equality

2) Why did the Muslim league
announce 16th August 1946
as Direct action day? (A)

A) Demand for separate
Pakistan

B) Divide Punjab into two
halves

C) to merge Hyderabad into
Pakistan

D) Demand for opening of
Urdu Medium Schools.

3) Identify the State which has
recorded the  highest
Literacy rate in India?

D)
A) Jammu and Kashmir
B) Punjab
C) Himachal Pradesh
D) Kerala

4) Which Criteria followed by

UNDP for measuring HDI?
©

1) Pollution level

2) Health States

3) Educational level
4) Perceptive income
A) 1 only B) 1 &4 only
C) 3 and 4 only
D) 3 & 4 only

5) Identify the land as the part
of Indian Peninsula? (B)
A) Angara land
B) Gondwana land
C) Southern Hemisphere
D) Western

6) Which of the following
Economical activity is not
related to primary sector?

©

A) Fishing B) Planting
C) Teaching D) Mining

7) Which of the following State
spending average highest
amount for each child on

education? (B)
A) Punjab  B) Himachal
C) Kerala D)West Bengal

8) The working population
considered the following

age? (B)
A) 14-58 B) 15-59
C) 19-59 D) 25-55

9) Why did USA decide to

intervene the vietnam war?
A)

A) Because communists
had gained power
B) Because vietnam
attacked on USA
C) USA was trading partner
of France

D) Vietnam had a country
of USA

10) Which of the following
statement is not related to
the Muslim league? (B)
A) The Muslim league
funded in 1906
B) Demanding Pakistan
from 1940
C) Observed direct action
day on 16th August 1946.
D) Use the slogan DO or DIE
for separate country to
Muslims

11) Who is the head of the
Indian Union? (B)
A) Prime Minister
B) President
C) Home minister
D) Speaker

b) Treaty of Versailles
¢) Russian Revolution
d) Beginning of First

World war
A) dcba B) cdba
C) abcd D) bcda

15) Identify the following
statement is in correct?
©
A) Sun yet sen regarded as
the founder of Modern China
B) Chiang-kai-shek
encouraged women to have
four virtues'.
C) The comintern and the
soviet union not supported
communist parties around
the world.
D) China communist party
founded in 1921.

12) Match the following and choose the correct option

i) Morarji Desai

i) Rajiv Gandhi

iii) V.P Sing

iv) P.V Narsimha Rao
A) i-a, ii-b, iii-c, iv-d
C) i-b, ii-d, iii-a, iv-c

©
a) Mandal Commission

b) First non congress PM

¢) Economic Libarisation

d) Telecom revolution

B) i-b, ii-d, iii-c, iv-a

D) i-d, ii-c, iii-d, iv-a.

13) Which of the following
country is not in a axis

power? (D)
A) Germany B) Italy
C) Japan D) Russia

14) Arrange the following in
Chronological order? (A)
a) Formation of UNO

16) The following one is not a
demand of Royal Indian
Navy? ©
A) Better food
B) Equal pay for white and
Indian soldiers
C)Release  of  Subhash
Chandra bose from Jail

D)Withdrawal of Indian
troops from Indonesia.

17) Cause for cold war? (B)
A) The rivalry among the
industrialized countries.

B) Ideological difference
between super powers.
C) Rivalry among the
colonial powers.

D) The non agreement to
the disarmament policy.

18) Which of the following
river is tributary of the
river Krishna? (A)
A) Tungabadra B) Gomathi
C) Yamuna D) Damodar

19) Who is the present Lok
Sabha Speaker? (A)
A) OM Birla
B) Balayogi
C) Shivaraj Patil
D) Sumitra Mahajan.

20) United Nations has decla
red the year 2023? (A)
A) International Year of Millets
B) International year of Women
C) International year of
Animals
D) International year of peace
& security.
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